Bug report
1) met.strength has no argument sym, but met.degree does have argument sym. Either both of them have the argument or none.
2) met.betweenness gives different result when calling:
met.betweenness(MB,binary = T, sym = T,normalization = F)
than when calling:
[bookmark: _GoBack]met.betweenness(MBS,binary = T, sym = F,normalization = F)
where MB is a binary matrix and MBS is the symmetric form of the of MB. Results therefore should be the same but this is not the case.  Possible reason: binarization of the matrix in the code happens BEFORE and not AFTER symmetrization. When the matrix is binarized and the symmetrized (by adding the matrix to its transpose form), some values may become 2 instead of 1. Therefore when calling the function “metric_node_betweeness()”, the matrix is not binary anymore. Possible solution: call binarization AFTER symmetrization of the matrix.
NOTE: this may also happen in other met functions… didn’t have time to check all of them.
3) Symmetrization should only happen when the matrix is not yet symmetric! So, in all met. functions with Sym argument, when Sym is TRUE, then the code should first check if the matrix is not already symmetric with isSymmetric() function, if not symmetric then proceed to symmetrize the matrix by adding it to its transpose form, otherwise leave it as it is.

